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a) 13 + 23 + 33 + · · ·+ n3 =
n2(n + 1)2

4
= (1 + 2 + 3 + ... + n)2,

b) cos x + cos 2x + · · · + cos nx =
sin (n + 1

2
)x − sin 1

2
x

2sin 1

2
x

,

c) 1 + 3 + 5 + · · ·+ (2n − 1) = n2.
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n

=
(k − 2)n + 1

(k2 − 2k − 3)n − 2
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a) a
n

=

(

1 +
1

n

)

−2n

, b) b
n

= n

√
2n + 3n, c) c

n
=

(

n2 + 3n + 2
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)3n+1
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d) d
n

= 3n −
√

9n2 + 6n − 15, f) f
n

=
n cos(2n − 8)

2n3 − 1
,

e) e
n

=
n

n2 + 1
+

n

n2 + 2
+

n

n2 + 3
+ · · ·+ n

n2 + n
.

FG������H1�����(<�� b�cDQaN�gpbmX�ZSQS`mb�c�gpbmX�`mbmd�OlQSn�e_d$`���L�Xm��PDQaf�^sX�~�d�gpXmZ�[
`_^s|
t

x ∼ y ⇔ E(x) = E(y),
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[x] + [y] =
[

E(x) + E(y)
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x ∼ y ⇔ (−1 < y − x < 1).
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a) f(x) =
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x = 2;

b) f(x) =
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x
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x = 3.
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a) x2 + 5x − 4 = 0, n = 2;

b) x5 − x4 − 6x3 + 2x2 − 7x + 3 = 0, n = 3.
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a) f(x) =
1

x2
+ 2, A = [2, +∞[;

b) f(x) = 3
√

x + 1, A = [0, +∞[;

c∗) f(x) =
1

x2 + 2
, A = R.
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|x + y| ≤ |x| + |y|, x2 + 2 ≥ 2
√

2|x|.
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a) a
n+1 =

7 + a2
n

2a
n

, a1 ≥
5

2
;

b) b
n+1 =

1
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n
+

1

5
b
n

+
1

4
, b1 ∈ [−2, 2].
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